bfE7O—7
MX8030 Proximity Probe

Datasheet
BIZE  [MX8030.4 OVERVIEW [MX8030.1
FMX80304 ’O0—J'< 1) —XI& FVIBELOCKS O The MX8030 probe series consist of 8mm tip
DY EIEMT—TIVERZ = d8mm TO— T THER diameter probes with VibeLock* connectors and
SNTVET, API6T0 TERINS IR TOIRERE Triaxial Cables. These models are available with
BRAUECHRISELGL TWEY, coTO0-TY all standard thread sizes and body configurations
=& 2m DT L2 TICHHLTWT, MX8031 required in API 670 Standard. The probes offer a

EMX2033 & EEICERT DIHZEIC, API6T0 [CHEHL
UBBIEIN T+ =T U RITBDLIRETINTLE
9, FMX8030J & BN+t 33000 & KT F3300XL]
NP8 TO—T &L EHE

full 80 mil (2mm) range, and are designed to offer
full API 670-compliant performance characteris-
tics when used with a matching MX8031 extension
cable and MX2033 driver. MX8030 probes are fully
interchangeable with Bently Nevada®™ (BN) 3300 and
3300 XL 8mm probes.

2l
¥
i

y / / & , i '

- 3 -

B1.  TMX8030 8mmEiA~ > kO—J (AA=01~04)J
1. 85w oTO0—7
2.0V 07y bEEHRAL:3/8"-24DEEFI/16” - MODEFIFMTHAMBINTVET, )
3.1 U ( TAAD =01, 02D & F1%3/8”7 -24 UNF-2ARRU. TAAD =03, 04D & F[EMIXTRUDKREETTY, )
4, RINTEB (B4 U :3/87-24D & F(E5/16” . MIOD & F(E p8)
5. T5Q 387 — TV (ETFERLY v 7y MEFSERAS. Tim)  SKAREWEM=02, 04DH, PVCI+ 7Y hEBY,
REWE SUSI4EY/ RAR: 06.99. HER: T —JILER - 152m. HLEEE SUS304/5x KR 8. 89
6. FVIBELOCK-TM] HEEI RV % (A - O—L v MITHY - &KZF:HT7.37)
T.RIITHRUER(F F 3> BBBY )
8. QUBRER(A T3 : TCCCY )
9. $8 SiH SO —TES (RK 6. 0mm)
10.2R(AF¥3>: DI )
M. ORVYRET—V(DIAOV) I VE - K 25m - AR H11)
KEBEEIEHY FE A, BREUO, Ry O AR EMDERBN S DiEGEEZEH DHRETELTVET,
(PVCHETIE. PREMEHBEZERHDREHTRO>TVET, )

METRIX www.metrixvibration.com e info@metrixvibration.com

Doc# 1507096-JAPANESE  MX8030 ¢ November 2023- Rev A » Page 1 of 4



2. TMX8030 8mm#&A~ D~ k20O—"T (AA=05, 06) J

1. p8&ImTO—J
2. 716" Ov o+ vk
3. AU ( TAAD =05D & F(F3/8”7 -24 UNF-2ARR L. TAAJ =06 & F[EMIOXTRUDAETEITY, )
4.75Q38 4 — T IV(ETFER D v 7 v b HE&RA3. Tnm)

REEHWTE SUSIVAE/ AR 06.99. EBER:T—JILER - 152m. #HERE SUS304/5 KR ¢8.89
5. FVIBELOCK-TMJ HEEH IR I Y (AR - O—L v MITHY - BKEF: 67.37)
6. RINTAAUER (30 TBBBI )3 ( FAAL =05 M &= FBBBY =02, FAAL =06 (&= FBBBJ =05 HwhZE)
T.RUBER(A T3 TCCCH ) % ( TAAD =05 D &= CCC=012. FAAL =06 D& FCCCH =030 AAZE)
8. ¢8 im0 — JTET (FK 6. 0mm)
9.2KR(AT3>: TDDJ )
10. IRVVFET—V(DIAOV) IV - BR 11m - ZAE: $25)

XEBEEIESY FB A, BRELO. ARy O RREMDEBRN SDIEFEEEZEHDHRETELTVET,

METRIX www.metrixvibration.com ¢ info@metrixvibration.com
Doc# 1507096-JAPANESE e MX8030 ¢ November 2023- Rev A » Page 2 of 4



RIsViBRER

MX8030-AA-BBB-CCC-DD-EE
AA or AA - PVC BBB cce DD EE
R .
A Bt | SR | ERRU KMTRACE nUEeR 2R SZAE
wE
01 | |L | Wi\ 3/8” -24 | BBB = BB.B” (0.14 Y FT&)|CCC = CC.C" (0.14 VF &)
2 | /Y | giE 3/8” 24 | B%E: 000 = 00.0” £45: 008 = 0.8”
82K € -0.8 82K 09 = 9.6
02PVC | BY | BIE 3/8” -24
Bl 024 = 2.4 Bl 032 = 3.2"
03 | #|L | AiE M10x1 | BBB = BBB mn (10m &) CCC = CCC mm (10mC &)
04 | BY | i@ M10x1 £48: 000 = 00mm £45: 020 = 20mn
&' CCC - 20mm =& 250= 250mm
04PVC | BY | BIE M10x1
iz 070 = T70mm f51: 090 = 90mm
05 | |UL | &E 3/8” -24 002=0.2" OH 012 = 1.2" OH
06 | |L | &M@ M10x1 005 = 5 mm DFH 030 = 30 M MDH 05=0.5m 00 = L
07 | &|UL | #iE 1/2-20 | BBB = BB.B” (0.14 »FZ &) CCC = CC.C" (0.14vFZE) 10=10m
8mm f-ii.\.al.: 000 = 00. 0” Haii\q: 008 = 0, 8" 15 = 1.5 m 05 - CSA,
08 | BY | #iE 1/2-20 | &&: CCC- 0.8 BE: 09 = 9.6 20=2.0m ATEX,
Bl 024 = 2.4 Bl 032 = 3.2" 50 =5.0m TECEX,
09 | #®L | RUE MI4x1.5 | BBB = BBB mm (10M&) | CCC = CCC nm (10m%) 90 =9.0m | EAC, KOSHA
B=32: 000 = 00mm B=E: 020 = 20mm
0 | BY | &@ MI4x1.5 | B CCC - 20mn 85 250= 250mn
;070 = T0mm 51: 090 = 90mm
3/8”
40 | &L | 3@ ST
Smooth CCC = CC.C" (0. 11 UFCE)
3/8” 545 008 = 0.8”
41 gY | iE ST
Smooth =k 096 = 9.6”
3/8” Bl 032 = 3.2"
41PVC | BY | aimE ST
Smooth
METRIX www.metrixvibration.com e info@metrixvibration.com

Doc# 1507096-JAPANESE ¢ MX8030 ¢ November 2023- Rev A ¢ Page 3 of 4




1HH
JO— TR E RITTZL VRV T 1 REY
BUEER:: O0—J=SUS304
JTO—JwEME ‘
BmEiEs: O0—J=5US303

TO—TJtHR T5Q 38— T,

FTEFZEL750J #@#%. ETFER(IFL 2 - THSTIAO0IFL V)

iRk ’T — T )ALk T5Q 38— T,

FTEFZEL750J #&f&. ETFERN(IFL > - TS TIAOIFL V)

REEME=5US304

REREME
WEBEE=5US303
26N(7O—T8  7—TIVE)
5105k Y 5RE \
20N(IR 098 T—TIVE)
JRO9ME ETX YT ER
JRI IR ZX-0—-Lv kNI
ZZ - XZ(MX2033)
iR T —J IV
7 Z (MX2034)
JRD D NILD EA0. 565Nm  (HERR  $EHmHIZRE)

REMEEL - 25. 4mm
REWHEBERY . 25. 4mm

=:INT—TIVEITFHR

R —JIb: 339/m

) i BUEERT: B=R33.9Nm  (H#E2E=11. 3Nm)
JO—J =D IV D
ST &R22.6Nm  (HEEE= 7. 5Nm)
FRRE
JOo—7 : -B1~+1T77°C 3 TMX80300 , TMX8031J BATIE., -192°CE TOHHBIKE
EREE ERT— IV -51~+177C TOFERAMNETRETT,
Tz : =40~ +85°C
HEXEE 95% 7=7EL. FEELRETCE
EDEE 80bar (8O0 —7)
Jo—7 : 2989
o=

SIL (SAFETY ITEGRITY LEVEL) Y RT LRELEKHEE

rSILY (FESH. BFH. TOJ 5 LFHHOEREDEEZEND SHECELLRDIENDTY,
SILOENELTIE, 2V X T LADOHERECHEDAEEZ IS ZETT,

FIEC615080 FRABICEDSILEREZEMG I D& L\D

HIBFT/NA RE U TRLVWIEERICERING

SMETRIXZG(ESILEREEZEXS I &R < TIEC615084
HYET,

Trademarks used herein are the property of their respective owners.

Data and specifications subject to change without notice.
© 2023 Metrix Instrument Co., L.P.

METRIX

C &l ZOEBNBIRRICEHME S N EFEMED
DHEEENRH D EVNS T EICRY ET,
HFIBICE D<K E=FHEIC LV REMICEHMESNT

Note: Metrix is continuously improving our products.
Please refer to our website to download the latest
version of this datasheet.

www.metrixvibration.com ¢ info@metrixvibration.com
Doc# 1507096-JAPANESE ¢ MX8030 ¢ November 2023- Rev A » Page 4 of 4





